Asymmetry from MAID
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Using the Total cross section output from MAID 2007:
O01,07,0,7,077

Summed the cross sections from two channels:
(yp—omnlp,yp—>m*n)

Using equation from 1001.3898v1 to extract the asymmetry:
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Q2=0.02 GeV2
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Q2=0.04 GeV2
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Q2=0.06 GeV2
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Q2=0.08 GeV?2
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Q2=0.1 GeV2
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g2p data choose:
2.254GeV, 5T, Longitudinal
2.254GeV, 5T, Transverse
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Asymmetry for 2.254GeV, 5T, Longitudinal
Dilution factor use 0.15
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Asymmetry for 2.254GeV, 5T, Transverse
Dilution factor use 0.15

0.01

0.005

-0.005

-0.01

-0.015

-0.02

-0.025

il‘llll‘llll‘l|||‘||||‘||||‘||||‘I|II‘III

1000 1200 1400 1600 1800

11



Asymmetry for 2.254GeV, 5T, Longitudinal
Dilution factor use 0.15
Q2 choose for MAID is 0.04 GeV2
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Asymmetry for 2.254GeV, 5T, Transverse

Dilution factor use 0.15
Q2 choose for MAID is 0.04 GeV2
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Any suggestions?
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